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12 Bcm 

Ans- Lenth : Bcm breathe :3cm 

Pimeter 2Xx Clngth t breathe) 

2 x C3+3) 

2x11 

22cmn 
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Cm 

b. 

Side : 6cm Aps Lenth ofone 

neRPrimeter XLength at aoe side 
X6 

2cm 

C_ 
2cm 

LerA 

Aos- Pimeter = Scm+2 cm tcm 
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2 2cfn 
Cm 

250 

Ans- 
Fimeter 2 +242 

:6 

e 
cr 

Ocm 

Ans- 
Pim.er 5t+5 t1+14111 

14 
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6cm 

era-

e 
Ans CA +AB+BA 

Perimeter -6++5 

18 

e- 

2cm 

Ans-Perimeter- 4+ 5t5 +242 

:18 
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2cm 

2Cm 
A A 

Ans -Perimeter -2t) f2 +2+2 + 2+2t2 

19 

Sc 

2cm 

1cm 

Ans Peomebr: 5111142H2+4L}1 

20 
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8 

TC 
3on on 

Lc 

Ans 8Pimeter= 8t6 +4t4+3+3+1t1 

30 

2 

a cm32cm 

b 10cm- Han 

C m 15cm-36n 60cm 

12m 1Hcm-4Ran 56cm 
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2Ocm a2:em; B- 83am 

2Ocm b 6cm B: Hcm 

6cm c :2cm B: lem 

d:10m3cm; B: tm 25cm 3m Skem 

a2fcm= 21m

b 21 0 

C2m bcm2ta 15tm 

d11m 10m 39n 30cm 



63 cm AB:8cco,BC6cm, CA: tcm 2m,1hccnkm a 

63 
b2 AB-Hcm,BC:Bcm, CAlcn 12m,2m, 24cm 

34 
cAB 7cm, BC-4:5cm Ch:3:5cm 21cm12h,10 5 
AB 12m,BC-1lem CA 1m tm 30c 

6. The enth of a floc is 6Om and ibs and ibs 
bread th is 50m.Find the perimeber af the 
fLoor 

Ans- The lenth andhr eadth is given so it is The 
a rectangle. 

Ferimeter Length= 60m Breadth =5Om 
fimeter 2XCL-B) 

2%C60+50) 
23 110 
:220m 

Perineter of the fLoor is 220m 
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A clot.h is m Long and 2m wide. If 
Sheena uants to Lace it acound,bhou much 
Lace is reguced 

Ans The Leng.th ad breadth is given, Sot is 
a rectah,le cloth. 

ParimeLer-Leng.th: tm; Breadth- 20o 

Perimeter=2XCl+B 

= 2 C7+2 
2x9 
18m 
doth- 

.' 18m R is required Lace it around. it 
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8. 
A table to of uwoodis of Length 150m 
and Breo.dth 120m.what is itperimetec and 

The Ans lhe Length and breadth. is given, So, it is 
a rectangle toble 

Pecimeter _of rectangale top wood 

Length: 150m Breodthe120. 

Perimeer 2XCLtBO 

2 XC1SO+120D
2X210 
540 

5HO 5HO is penmeter 
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q8. 
A tiangluar park has its Sides ot Lena.th 

200m180m, and 120m, cespectivelz.L&lcala 
travelLed by a man it he 

204 
the the_ distance 
esaraund the park twice. 

Ans- It is a trianglepark 
Perimeter- 200+180+120 

500 

TEaman as Coverbsice: 50OmX2=100m 

t aman goes afoung the park. 
tce, be have Cover ed 1000m 
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10. 
Squaregarden_15 01 length is_of 

Length 1OOm.How much wreull be needed 
fOr tenCing arould t thcice 

Ans- tis a SauareShaped graden 

Perimeter=Length ol one side XH 

X100a 
O0 

S0wire needed to fence the graden thirce- 

3XH0o 
1200 

1200m wire uill be requirtd for fencing 
i thrice a round 
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a 

Area 1Hcm2 

b 

Area:25cm2 
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Area 12cm2 

d 

Area: 6cm 



) 

2 

Acea: Hem2 

. 

Area: an2 

C 

Area: 16cm2 



d 

Area: 6m2 
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